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ENGLISH F. M. - 30

1. Read the passage carefully and answer the questions :

Paltu and Mintu are two friends. They live in the same village of Kaukepara, under Deganga
block in North 24 PGS. They go to Masum J.S. International School. It is an english medium
school. They read in Class-VI. The total students of this school is three hundred and fifty. It is
the mainly a day boarding school. After the end of the day session, every students get a meal
and private tution from there. The fame of this school has spread quickly among the cultural

families of this area. Thirty private cars carry the students from their homes.

A. Answer the questions of the following :

(i) Which school does Paltu read in?
Ans. -

(ii) What are the advantage of this school?
Ans. ;

(iii) How many car do the students carry from their homes?
Ans.

B. Write ‘T’ for True or ‘F’ for False of the following sentences :
(i) Masum J.S. International is a Hindi medium school. | 5

(i1) The fame of this school has spread quickly.

!

C. Find out the opposite meaning of the following' words from the passage abo#e s

(i) Public

(i) Night

3x2=6

1x2=2

1x2=2
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2. Do as directed :

(a) Change the Number : 1x2=2
(i) Cherry — (ii) Sheep —

(b) Change the Gender : 1x2=2
(i) Stag - (i) Ox-—

(¢) Fill in the blanks with articles : 1x2=2
(i) He reads Koran daily. (ii) Ratanis honest man.

(d) Rearrange the following letters to make meaningful words : 1x2=2
(i) RTEAHCE - (ii) ORTDCO -

(¢) Find out the proper Noun and Common Noun of the following : 2
Sonali is a good girl.
Ans.

3. Translate into English : 1x5=5
(i) TR s et e |
Ans.

(i) = = A

Ans.

(i) =i @ gaifeg)|

Am_.

(iv) @R g f=)

Amns.

(v) Cmat 7ZACS ST fs #Ue |
Ans.
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_ 4. Write a five sentences about our national bird. 5
Ans.
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